
POZICE 1 

 

-ti 
 

 
Uw = 1,2 max. 
 

 
 
 

POZICE 2 

 

-ti 
 

 
Uw = 1,2 max. 
 

 
 
 

POZICE 3 

 

-ti 
 

 
Uw = 1,2 max. 
 

 
 
 

 

Okno plastové 
Izola ní dvojsklo 
Uw = 1,2 W/m2K 
 
Po et: 40 ks

Okno plastové 
Izola ní dvojsklo 
Uw = 1,2 W/m2K 
 

Po et: 16 ks 

Okno plastové 
Izola ní dvojsklo 
Uw = 1,2 W/m2K 
 

Po et: 8 ks 

D.1.1.6 Tabulka otvorových výplní 
Zateplení bytového domu .p. 390 a 391 (CZ.06.2.11/0.0/0.0/17_097/0013984) 



POZICE 4 

 

-ti 
 

 
 

Uw = 1,2 max. 
 

 
 
 

POZICE 5 

 

-ti 
 

 
Uw = 1,2 max. 
 

 ks 
 
 

ZASK. 01 
ZASK. 02 

 
 

investorovi.  

 
16 ks 

 
 

 

 

Okno plastové 
Izola ní dvojsklo 
Uw = 1,2 W/m2K 
 

Po et: 17 ks 

Okno plastové 
Izola ní dvojsklo 
Uw = 1,2 W/m2K 
 

Po et: 22 ks 


